Unit 6 Day 4
Review

Warm Up Day 4

1)

* Freshmen get 3 votes.

» Sophomores get 5 votes.
* Juniors get 7 votes.

e Seniors get 8 votes.
* A winning coalition must b) Of these coalitions which
have 6 votes. ones are winners?

a) What are all the
possible coalitions?

c) What is the Power Index for d) Who are the dictators

each grade level? or dummies?
Freshmen Juniors
Sophomores Seniors
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Warm Up

Freshmen get 3 votes. a) What are all the

Sophomores get 5 votes. possible coalitions?
Juniors get 7 votes.
Seniors get 8 votes.

* A winning coalition must
have 6 votes.

b) Of these coalitions which
ones are winners?

c) What is the Power Index for
each grade level?

Freshmen Juniors
Sophomores Seniors

d) Who are the dictators
or dummies?

Warm Up ANSWERS

Freshmen get 3 votes. a) What are all the

Sophomores get 5 votes. possible coalitions?
{F; 3}, {Sb; 5}, {Jr; 7}, {Sr; 8}, {F, So; 8}, {F, Jr; 10},

Juniors get 7 votes. {F, Sr; 11, {So, Jr; 12}, {So, Sr; 13}, {Ir, Sr; 15}, {F,
. So, Jr; 19}, {F, So, Sr; 16}, {So, Jr, Sr; 20}, {F, Jr, Sr;
Seniors get 8 votes. 18}, {F, Sp, Jr, Sr; 23 }, {none; 0}

A winning coalition must b) Of these coalitions which
have 6 votes. ones are winners?

{r; 73, {555 8 {F 39 8), {F, 41 10}, {F.gg; 11}, {50, Jg; 12},
=

{?o, Sr: 13}, {175r; 15}, {F, So, Jr; 15}, {F, So, Sr; 16}, {So, I,

Sr; 2\(‘)?, {F, J£;’St; 18}, {F, So, Jr, Sr; 23 }

c) What is the Power Index for

each grade level? d) Who are the dictators

_ or dummies?
Freshmen _ 1 Junl.ors_3__ Note « No yory 1S
Sophomores_1__ Seniors__3___ essenthal Ao all
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3) (Everyone wins) Consider the following set of
reference lists:

)

# of 3 1 1 1 1 1 1

Voters

I A A B B CC D
2nd D B C ¢c B D cC
3 B C D A DGB B
4t C D AD A A A

Calculate the winner using;:
a) plurality voting

b) Borda count method

c) Sequential Runoff method

d) Cordocet voting.

M

W

@ en board members vote by approval voting on eight
andidates for new positions on their board as indicated in

the following table.

1 2 3 4 5 6 7 8 9 10
A|X X X X X X
B X X X X X X X X
[c X X
™M IpIx X X X X X X X X
" [E | X X X X X
F | X X X X X X X X
GIX X X X X X
H X X X X X

sreference lists:

4) Consider the following set of

# of 2 2 1 11
Voters

QO»Qow
Qwg»

Calculate the winner Elsing:
a) plurality voting

b) Borda count method

¢) Sequential Runoff method

d) Cordocet voting.

a) Which candidate is chosen for the board if just
one of them is selected?

b) Which candidates are chosen if the top four are
selected?

c) Which candidates are selected if 80% approval is
necessary and at most four are elected?

d) Which candidates are elected if 60% approval is
necessary and at most four are selected?

Practice: Day 2 (continued)

1) Find the winner of the election under the method of
pairwise comparisons (Cordocet).

# of Voters 5 3 5 3 2 3
1 A A C D D B
2nd B D E C C E
3rd C B D B B A
4th D C A E A C
5th E E B A E D

@f he 45 members of a school’s football team vote on
ee nominees, A, B, and C by approval voting for the
award of “most improved player” as indicated in the table.

fs,/ Who would win most improved player?

7 8 9 9 6 3 1
A X X X X
B X X X X
C X X X X

3) Consider the following set of preference lists:

1 1 1 1 1 1 1
1* |c b [¢c B [E D [C
24 1A [A |E D D |E [aA
4 B [c A [E [c [B [B
s* Ip [B |B |¢c [B [c [bp

Calculate the winner using:
a) Plurality

b) Borda count

" ¢) Cordocet method

d) Sequential Runoff
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4) Consider the following set of preference lists:

\ 3) EE\'eryone wins) Consider the following set of \
i lists: ' f 2 2 1 1 1 U
glsference 3lStS 1 1 1 1 1 1 Tm\ ' #Vglers T()ﬁ—;i
-~ Voters Aecs I+ :5\ C D C B A vl (S
I 4/A A B B C C D 2 A A D D D
2 3D B C ¢ B D C 3@ alB C A A B
3:: ajlB C D A D B B g v|[D B B C C
éalc‘”““e ‘h(f:‘f “’illl)ner :l\Sil\ﬂl') \/S\* . ! Calc:)lmepllltlliavl\;i;nve;t?:éng. wh D V3 place wRS
a) plurality voting v Q\“a 31' g CD 'D-I o
: ’ b) Borda count metho Y -
' 120N 3 3M+40)= 20
b) Borda count method = E Al 32 ¥ > ) ) +20) =1
: YO R ORCA LM (M N0) =3 3 g e +103) +10) 4 40D =3
= “’ff‘ '@: :((% QE\%, +'-\(?) #4 (1) ¢ 301) +AVHA() =34 ”"g%h & 403 +4(3) +4) 4301 +30)=
P TR TERRRRG BB fhs 5. G 0000 g
’ : + 20 ! = . p _
¢) Sequential Runoffnxetl:éx\i“‘m‘\w\Q D w1 17 x_\“@— c) Sequential R%ﬁog‘r‘n:\tl\lgaw_ At 6w | whplo®
d) Cordocet voting. Elmanede B wth 3 \Shglace ® ct 3 ol now — WS
BB E:_ ) @ AL A S 9\‘(9_ now (3'?\) d) Cordocet votings Bt |S’l'\¢\lCe w0
A ! Sk (K7 — i
o o ! \Splunes(1+1114111) O whS varsus
Vt,jmsos g2 \ ' E % ’g,% @ QVQ%OML
yass x ) L 5 x A Yo ya&

the following table.

35) Ten board members vote by approval voting on eight
candidates for new positions on their board as indicated in

Which candidate is chosen for the board if just
one of them is selected?

D w9 voRrRg

a)

1 2 3 4 5 6 7 8 9 10
A|lX X X X X X A b) Which candidates 3;;:\ chosen ;'iggc top four are
B X X X X X X X X <0 selected? ) win A vd
c X X 3C B and | i Bokeseach
D|X X X X X X X x x|[9D A RS .
E | X X X X X 5 € ¢) Which candidates are selected if 80% approval is
F | X X X X X X X X |QFE necessary and at most four are elected?
G|X X X X X X 6G D, ByondF Ce\rev%jdwz ese
H X X X —x__x|cH _ , has £ R véke$ SO
—_— A C D d) Which candidates are elected if 60% approval is Lgo'],
— —E A A g ex A 13 Vs %EDAuwms necessary and at most four are selected?
A% AW NS C 107 Awnms D and A >
glx » B 8 10 Al Il vs D10 AuwS \ 3%)F3 (have 2 ("V‘ﬂeg
Clv 2 X X S ALI0VS Il SEWNS
D |x X N, Practice: Day 2 (continued)

1) Find the winner of the election under the method of
pairwise comparisons (Cordocet).

3) Consider the following set of preference lists:

# of Voters

1%t
2nd

OO QW »|lwn
WMWY »|w
> gmalw
>mw A glw
T wage
T Q> mw|w

1 1 1 1 1 1 1
g1 |c |p |c [Bx|E=[D [C
R[29 [A-]A- [E=|D |D [E=]A-
L) 3@ |E=|E=|D A- A A [E=
3[4 |Bx|[C |A- [E=[C [Bx [BX
1[5 |D [Bx[BXx[C [Bx[C [D

NONL ... NO ONL WIS

Calculate the winner using;

) Py oty 2 st ploce VRS

YoNS .
@ varsys o\ condidales hogd
2) The 45 members of a school’s football team vote on ‘:1\:}2“ & b) Bordacount A * 13(‘\ A4+ Al 301)4 300 +30)™
three nominees, A, B, and C by approval voting for the A3 D13 B MOYRIOTO) +350)+101)+ A1)
award of “most improved player” as indicated in the table. LY ¢t 5(1) 4 a1 SOY+ 1)) +30)4 OO
(O Who would win most improved player? -\0'\"-\ Cta\ m D! I+S43+ 44 44 St ' £:343+442
7 8 9 9 6 3 1 NoRS ¢) Cordocet method + 51443
A | X X | X X |23 for A No OAQ\,/W
B X X X [X |2\ v & s vgall ohhers, A1 ¥ A A DA
C X X X X |\qvC d) _Sequential Runoff B[xx CDE
A wih 93 Yo\ vole s Deveraie A wimogs | S| % 5 PE
Sfwwnnale 8 with v D | ¥
Plx x x % X

@ gwnanok E w7
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11/26/2018

Review
1) Plurality, Majority, Runoff, Sequential, Borda , Condorcet, Approval

For approval, the top 3 votes were approved.

AN N NN N N

4 A 4 A 4 C 4 D —+ D —+— B

-1 B L D 1 E 4+ C 4 C —+ E

—+ C -1 B 1D 1 B 1B —+ C

—+— D -+ C +—A —+ E - A —+ D

T E T E T B T_A T E T A
Votes: 5 3 6 3 q 2
Plurality: Majority: Borda: Runoff:
Seq. Runoff: Condorcet: Approval:
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11/26/2018

r\‘
Review Total veles
1) Plurality, Majority, Runoff, Sequential, Borda , Condorcet, Approval 8 3
For approval, the top 3 votes were approved.
NN AN AN AN
4 A 4 A 4 cr _ep s p —1® B~
-B B~ |1 De» {2 E_~ 4 C ~ Cor —E-~
+Cs J®Br _1 De _0B.- B~ —+ C-
+pe Lc La Ty A D
TsE,s TwE T®B, TA *E, T A
gﬁ @ Votes: 5 3 6 3 4 2
o ¥ P*
Plurality: A Majority: Non Borda: (, Runoff: D
(win g 1shpla)  (no -9’?0'/ ) (85p18)
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Review
1) Plurality, Majority, Runoff, Sequential, Borda , Condorcet, Approval

For approval, the top 3 votes were approved.

“ A SN N S /
sla gla Slc gtp &0 S8

LB ytb Yyle Y4-¢ 41 c Y E
31c 318 31p 348 3-8 3+C
alp 2alc atla 3+E 34A 0D

\+g V+eE V1B 'TA '“]"E \ A
Votes: 5 3 6 3 4 2
Plurality: Majority: Borda: Cg\;::S Runoff:
Seq. Runoff: Condorcet: Approval:
Bo(dm ﬁ 5 with TS pownts
5y + As) + ) * (3) +2)+1(3)= 65

u(g) + 3(3) + \(6) +32) + 301+ 9= 66
et 3() + A3 +56@) Fa03) + 41+ 33)= €5
D! a6) * 4(3) + 36) ¥ 5(8) +SM)+ 3=
E: 1(g) + 1(3) ¥ 46 +303) r 1 (1) + =50
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11/26/2018

Review
1) Plurality, Majority, Runoff, Sequential, Borda , Condorcet, Approval

For approval, the top 3 votes were approved.
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SLer 3L os plen 3 c. Ulce FE
AY

Lcs A B (p-Dv 3B Yi-Bo ’)»—45_/

— D 4 C —+— A —+ E —_— A —+— D
T E T E T B T A T E T A
Votes: 5§ 3 6 3 4 2
Plurality: Majority: Borda: Runoff:
Seq. Runoff: Condorcet: Approval:
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Tonight’s HW =

Quiz Review on Packet p. 7-8
(Section 1.1-1.5)
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Group Ranking Methods

Plurality

Majority

Runoff

Sequential Runoff
Borda

Condorcet

Approval
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